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(Honours Generic/Regular)

Answer the Questions from any one Option. ‘

OPTION -A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
( Plant Physiology and Metabolism )

 OPTION - B
For Honours Generic
Paper : BOT-HG-3026
( Environmental Biotechna.logy )
Pull Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION -A

(Plant Physiology and Metabolism )

Baper -

BOT-HG-3016/RC-3016

Answer the following as directed :

o sE] & et ¢

i

Choose the correct answer of the following :

(any seven)

Lx7=7

wﬁmmw%@%%@(%w
i) ;

©)

(i)

Which of the following forms of water is
absorbed by plants ?

(@) Run away water

(b) Hygroscopic water

(c) Capillary water

(d) All of the above
-meﬁWmeWww
(@) AR @A AR

(b) @Sl &f1E} A

(c) TR =

(d) 'SP AR

What is root pressure ?

TET5Io 75 2
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{m)

(iv)

(v)

vi)
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Transpiration is a necessary
(Fill in the blank)

AT (202 Bl AT |
(T N2 999 7))

What is meant by ‘antitranspirant’ ?
‘ORI T IS e

Who proposed Active K* transport
mechanism for opening and closing of
stomata ?

(@) Steward

(b) Sayre

(c) Loyd

(d) Fujino
W@Wmmﬁwmwmwﬁ
“BIfRA oE “fSeee ©F SeRpiRke 2

- (a) e

(b) BRI

(c) TRY
(d) Ffe

Name one instrument to measure the
rate of transpiration in plants.
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faral|

(vii) Dieback disease is caused due to
deficiency of

(a) zinc
(b) copper
(c) boron
(d) iron
A @l B ToR® 2
@ = ' |
(b) T
fc). . 959
(d) T2
(viii) Mass flow theory of organic solute
translocation was proposed by
(a) Fenson

(b) Spanner

(c) Munch

‘(d) None of the above

g T AR T BE TS ol IR
@ @ '
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(b) PR
(c) =
(d) e%s3 <bre T

(ix) Vernalization was discovered by

(a) Garner and Allard
(b) Lysenko
(c) Kurosawa
(d) Miller
xS iR e
(@) SIFE SF 9=G
(b) AT .
(c) BRI
(d) e
(x) - What are thyllakoids ?

BTG 57

(xi) Assimitatory powers produced during'l

photosynthesis are
(a) ATP and NADPH,
[b} HQO and 02
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2. Write short notes on the following: (any

(c) RuDP and RuMP : Jour) ' 2x4=8
(d) CeHi120s and PGAL (@) Osmosis
FEREEd dfEEe T (A LIRS (b) Guttation
*fe (22 # (c) Chlor.oplast
(@) ATP =i NADPH, e ‘  (d) Krantz anatomy
(b) HyO 9% O3 (e} Types of transpiration
() RuDP % RuMP | - : (f) Abscissic acid
(d) CeHi206 s PGAL (g) Photosynthetic pigments
(i) Respiratory quotient (RQ) is represented (h) Day neutral plants )
by el o weie WMANRIRT 53 Gt o7t ¢ (Rizpiean s1i<on)
(@) C/N gl (@) S
(b) No/O | f (b) R
(c) 0n/COs . (c) TR A 2R
(d) CO2/ Oz | ' (d) @G T AE
e ST (RQ) T ' (e) ACHE PR
(@ C/N _ () «afeles afes
(b) Nao/Os o (9) FAGRTEETS 96T 73
(¢ 02/CO; ' (h) e facers Tfen
() CO/O; i o
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Write short notes on the following: (any

three) ; 5><3=15

(a) Components of water potential
- (b) Cohesion of water and transpiration
: pull theory

(c) Photorespiration

(d) Mechanism of enzyme action

fe) Auxins '
. () Anéerobic respiration

(g) Vernalization

(h) CAM

were TaiERE 59 (Gl vt ¢ (R fofon)
(o) TERSI GAMRITER

(b) AR FHG W ST T A

o e

(d) «weizT R

() IS

() S WA

(g) TETEA

() CAM
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Answer any three of the following

questions :

10x3=30

ool ezl ffn) e Tad o ¢

(a) What are different sources of nitrogen

(b)

(c)

(@)

for higher plants ? Describe the
biological nitrogen fixation. = 2+8=10

T34 Bfva <A ARGeE Rfon SR R
%?W?@WW‘NW?@WI_

What is translocation of organic solute ?
Describe the mechanism  of
translocation of organic solute in plants
with the help of pressure flow model.

(o9 &9 +iR7= 62 lol e TR AgEe
Sfgre (o Ty ST AfERn 9 w4

Describe different types of factors
affecting the photosynthesis.

HCEAPARTNT 2SR (otenl [fon owRe
PRFITR I 51 |

What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic
electron transport in photosynthesis.

' 2+4+4=10
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(e)

(9)

(h)

 FERCEE B2 AT FE R SIS

e BERE SAfReeR R 9z @9

Déscribe the chemical process of EMP
pathway. Write about net product of

EMP pathway. 8+2=10
EMP 3 TR 2o 2 390 o EMP
ST o Teoive R o

Give a detailed account of the Krebs
cycle. Mention its significance.

(9 PECER R f{iaeel | 29 wiesd T
<A |

What is photoperiodism ? Discuss how

the plants are classified on the basis of
photoperiodism. 2+8=10
e efofem &2 iusrR adfe el
TR eswe F¥T R Sfemnes [
(TR FT C2CR AT <P |

What is plant growth regulator ?

Discuss the physiological role of
Gibberellins in plants.

Bfew 3% s 67 Tiers femiiems <ieise
GiaRpl SACTb B |
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OPTION -B
( Environmental Biotechno logy )
Paper : BOT-HG-3026

Answer the followin i A0 7

St g as directed .1 f;f?

O™ Sepilcy e e e fom ¢ Rz
) .

(@) Which one of the following i |
owing is
natural pollutant ? o4 S

sy

@k cCO

(iii) CO,

(iv) Pesticides

fente @R dipfes e To
. ser

@y co

(iii) CO,

(iv) FoIRRE

(b) What is the full form of DDT ?
DDT 3 =54 S &2

() In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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UNESCO 3% (@ ¥ W& 9F (Saea (9) - Lignosulfonates are released from

OB eRen TRz | industry. (Fill in the blank)
(d) Minamata disease caused due to oSt e s fisfo =
pollution. (Fill in the blank) * (355 H2 o ﬁ)
e cat eipFeg AE | _ (h) What is ozone ?
(71 312 %59 79) R

()  Which one of the following is a unit of

(e) Write two names of bacterial
radioactivity ?

" biofertilizers.
EWWWWWEﬁﬁ@@ﬁWW_ (i) ppm
foran ' ' (i) curie

(iit) decibel

f Which one of the following is a
(iv) nanometer

xenobiotic compound ?

(i) Polychlorinated biphenyls feare et (OGO G5 2
(i) Peroxyacetyl nitrate () oIy '
(l:ii) Chloro.fluo_rocarbon i 3
(iv) Ultraviolet ray
TS (@RI (TR A 2 i e
- ' (iv) ETRGR
(i) ~THRECT IR PO aobil _
(i) RO A2 / cere 1s Chilika lake situated ?
; . @ Size o= EUREIEOR
(iii) T T i
(k) Write the full form of WTO.
fiv) SHEET = WTO T rsiel o forat|
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() Which one of the following is a Ramsar

site ? . (d) Write a note on biomining.
(i) Kaziranga National Park | o WECE <o (Ol ferin |
(i) Majulee River Island g B
_ “ | * (e} Write a very short note on Brundtland
l[m} Deepor Beel Report. |
(iv) Brahmaputra River | goeTes eforma THeE oS 5t 9o G
fresie (R0 2 63 2 oI it ferat
i) sl I T : (f) Principles of Forest Conservation Act,
(i) e R | g ¢ |
. e :
e R SE (559%) T 6 OgTIR i |
o) e (g) Silent Valley Movement.
d T4 Gl e |
9. Write short answers : (any four) 2x4=8
- . ) (h) Xylanases
% e Uea i ¢ (R b Gif2HItem
(a) Advantages and disadvantages of . ,
aerobic ponds.. - 4. Wrile notes on any three of the following : '
e YT TeIEel Wi werEet i 9 el

fcag Rl foApe ssge (G il ¢

(b) What is radionuclides ? Give one

example. : (a) Global envir tal probl
. [ x onmenta roplems
cfeareET & T 9o T B ‘ : ’
| fer ATRC TR TR
What d by bi tration ?
() What do you mean by bioconcentration (b) Upflow anaerobic sludge blanket
oI A & gE? - | reactors

A _ - THYT SRS (W S99 R
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() Role of nitrogenous compounds in air
pollution '

LGS IR A AT g
(d) Trickling filter

fefer o
(e) Corporat(;, social responsibility

() Salient features of Kyoto Protocol, 1997 -

! 25T (Soda) T d4F REEPRR

(g) Coﬁstitution of Central and State
Pollution Control Boards -

‘mmmﬁmﬁmﬁﬂwﬁﬁwm
Rl

(h) Treatmen.t' scheme of waste water of
tannery industry

@ﬁaﬁmﬁaa@rﬁﬁaﬂﬁwmaﬁm

4. ‘ Answer any three of the following :
fRicaiea oAb es@ Tea ol ¢

(a) What is greenhouse effect ? Describe
the possible environmental effects of
global warming. Write briefly how

greenhouse effect can be minimized.
2+5+3=10
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| (Hem

(b)

(d)

mﬁ@fﬁlﬁﬂﬁm%?m%m@%w
W%%Wwﬁamm|m
T8 9f2 #{fexbAt 7R FF AR #1R s
qefel == |

What are pollutants ? Describe the fate
of different pollutants in the
environment. i 2+8=10

ﬂlﬁmﬁwﬂ%@w—ﬁf—ﬂe@wﬁgﬁ%
A9t pa |

Describe the Montreal Protocol (1987).
How does it differ from recommendations
of Rio-Earth Sumit-UNCED (1992).

7+3=10
alfie e (Sova) 6 a1 | Rer o piire-
UNCED (5552) 3 *_IeTls 0t 33"
(BN 5fefs R e

What do you mean by sustainable
development ? Describe the impact of
sustainable development on gross
national productivity and quality of life.

2+8=10

ded‘@ﬁ%ﬁ%%ﬁ?wﬁ@mw
(P SRAW R GIREE TAwe 6 o[
(A Zeife i 2IitT g G|
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(h) Write an essay on National
Environmental Policy, 2006.

AT A TS, 2000 AFTH @b W1 vt |

(e) What are xenobiotic compounds ? How
does xenobiotic compound affect the

living organisms ? Give suggestive

measures to mitigate this problem

through bioremediation. 2+3+5=10

RS S Wi B2 o oM @i
EHE YRS (IS TATIT IR AN ?
AR DR Al €8 Y (M 8 SR
SR i 11

() Write a descripti\}e note on Water
Pollution (Prevention and Control) Act,
1981.

o el (fomid S FEE) WiE, sevs |
rE <vl Rge G i

(g) Describe briefly the role and
participation of . women  in’

environmental issues in India.
SRR SR IR TPORRS A< R
R SEHa AFCE BT Al A |
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3 (Sem-3/CBCS) BOT HG/RC/G 18 L4 Ao




